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(D) z* 522 +6= (22— 2)(z2 - 3) =0 r=+v2 +V3
(2) 1 — 2sin%0 = 3sind — 1

2sin26 + 3sinf — 2 = (sinf + 2)(2sinf — 1) = 0
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B)y = (z—a/2)? —d?/4—a+3 a >0
z=10 y >0 —a+3>10 a<3d =z
—a?/4—a+3 <0 a?+4a—12 >0 (a+6)(a—2) > 0
a>2 a < —6 a
2<a<3
6) fl(z) =122% — 622 — 122 + 6 = 6(22% — 22 — 22 + 1) = 6{z — 1)(22% + = —
) =6z — 1)(22z — 1)(z + 1) flz) z=-1 x=1
f=1)=-8 f(1)=0 X
[2] ABC 14 s L L={0+0/240/4+
=01 =1/2) =2 S S=s+s/d+s/4.. =s/(1—-1/4) = (4/3)s
(=34+4+5=12 s=3%4/2=6 L=24em S = 8cm?
[3] (z,y) = (0,a) 2?4 (y —a)? =1 y = a?
2+ (22 —a)? =1 4+ (1-2a)22 +a®>—1=10
D=({1-2a?—4(a>—1)=0 a=% (z,y) = (£ 2,4]
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